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Psychology

Paper II

HAEIMHA
QoaeRt 11

Time Allowed : 120 Minutes]

Note

Bkl

JUN - 13220/I1—B

[Maximum Marks : 200

: This Paper contains Hundred (100) multiple choice questions. Each question

carrying Two (2) marks. Attempt All questions.

U 3TRA. W UEA dredl

: I YETUAR TS THU TN (100) TgIART Y9 ol sed. Yoo WeAen g (2)

1. Match column I and column II by
using the codes given below :

(@)
(b)
(c)
(d)

(1)

(2)

3)

(4)

Column I

(Virtues)
Courage
Wisdom and knowledge
Temperance
Transcendence

Column 1II

(Meaning)
Appreciation of beauty and
excellence, gratitude, hope and
religiosity/spirituality
Forgiveness, modesty, prudence
and self-regulation
Authenticity,
persistence and zest
Creativity, curiosity, open-
mindedness, love of learning
and perspective

bravery,

Codes :

(@ Bb) (@ (@

@a O @ @ @
B) 3 @ @ @
©C @ @3 @ @
M 2 G @O @

WY I 37for Ty I IHeie Sirean e

9 EId Hehdleh=AT STER W .

(@)
)
(c)
(d)

(1)

2)

(3)
(4)

Wy I

(|
D
TrRIou ST {1
BEES|
T fomencel

wWy 11

(31e)
Uied 3 Sreea= HeX, FHawdl, ST
afor femigegl/ Steatcehan
R, HId, gLael o -
AN, Y, faeRtdt enfor Scme
Tsterar, TS, Hiehosdl HATH

Tod, AT YA A1 aRged

- -

(@ ®) © @

@ Q1 @2 @ @
B) 3 @ @ @)
© @ 3 @ @
M @2 B @1 @
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Match column I and column II using
the codes given below :

Column I
(Theorists)
(@) Rollo May
(b) Viktor Frankel
(¢) Carl Rogers
(d) John Dewey
Column 1II
(Concepts)
(1) Positive self regard
(2) Reflex arc
(3) Existence stages
(4) Existential analysis
Codes :

(@ b)) @ (@
A 6 @ @O @
B @ G @ @
<o 1 @ 6 @
D) 2 & 1 @

Which of the following statement/s
is/are true about the item
analysis ?

(I) It involves qualitative analysis
of test items

(IT) It improves the validity of the
test.

Codes :

(A) (I) only

(B) (II) only

(C) Both (I) and (II)
(D) Neither (I) nor (II)

JUN - 13220/I1—B
el fooiean gaharen UM wEd WY
I efor w9 I = el ol ¢

w1
(frgiaerr)
(@) Tt |
(b) feFt Had
(c) et o
@) <A
Wy II
(Tehear)
(1) HhRIcHE S
(2) wfaed =g
(3) & stereen
(4) AR fagersm
Hehdich
(@ b)) @ @
A B3 @ Q) @
B @ 3 @ @
©C @ @2 3 @
D 2 @) @1 @
faum fagersonfase=it S/ Je/a
d 3Ted ?
1) =med faumr omee fovers o 2.
(I1) ¥ =r=oi= Juan dmeied.
Tehdiah :
(A) Tad (1)
(B) T (I1)
(C) (I) =7fir (II) <=

(D) ) snfor (1) <=rer et




Neurofibrillary tangles and plaques
are seen in brain scans of patients
with :

(A) Traumatic brain injury

(B) Temporal lobe epilepsy

(C) Alzheimer’s disease

(D) Meningitis

When both horizontal lines are of
the same length and have the same
visual angle, but on the top appear
longer. What is this illusion
called ?

(A) Muller-Lyer illusion

(B) Ponzo illusion

(C) Visual illusion

(D) Depth illusion

According to .................. law reaction
time in task is linearly related to the
amount of information transmitted.
(A) Donders

(B) Hick-Hyman

(C) Posner-Mitchell

(D) Matters-Millers

Which approach to personality see
personality as something which is
measurable ?

(1) Ideographic

(2) Nomothetic

(3) Social-radical

Codes :

(A) (1) is correct

(B) (1) and (2) are correct

(C) (2) and (3) are correct

(D) (2) is correct

JUN - 13220/I11—B
JATALIGA I o T § T GRiEeA
g @A STewsd
(A) SAEMAHeS STelelt STed
(B) RYITE SATIEHAR
(C) 3regmmR UM
(D) Hf&TshreRo et
SegT SF STEe IS FAM 3= ST

M TEHRMEN ST, T 9% o
O a1 Y & WU ?

(A) FER-TFR 9H
(B) =il yH
(C) T3 9H
(D) =1 94

h1cd B TRV HIgdr=a @™ TR
Hafd ST

(A) si=d

(B) fesr-femm

(C) dUiTR-faw=d

(D) Heg-THer

HfFquar=T A HIvAl gfseshia &1
HfFaHTaTd 3 kel Ol I AT
e AW UEdl

(1) =il Ha&

(2) fm e

(3) ErHITSIoh -t
Hehdich :

(A) (1) s

(B) (1) 7for (2) sRIsR
(C) (2) 3fur (3) sIeR
(D) (2) SR=T

[P.T.O.



10.

Which of the following is not a

subtest by Guilford’s to measure of

Divergent Thinking ?

(A) Symbol Coding

(B) Consequences

(C) Plot Titles

(D) Alternate Uses

Which of the following statements

is not correct ?

(A) Evolutionary perspective
focuses on evolved adaptations
that helped our ancestors
survive and reproduce

(B) Socio-cultural perspective
focuses on how behaviour is
influenced by group level factors
such as social class and
nationality.

(C) Socio-cognitive perspective

focuses on past experiences

with direct and indirect rewards

and punishments.

(D) Psychoanalytic perspective

focuses on interactions among

three component parts of mind

As people are studied repeatedly as

they grow older. This approach of

studies is called as .................... .

(A) Cross-sectional

(B) Longitudinal

(C) Cohort

(D) Sequential

10.
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frewies agansf faar AroamERE]
WeHeTeh! hIOT STETE STORel ATel 2
(A) Wil Hehad
(B) aiomH
(C) w9Teh Ifsih
(D) Jehfead AR
Weleren! Hv faum sReR @ ?

(A) Scwifafasas gfsewid Iwia
GFIATESIER. T8l Shigd hal i
e SIS JaSll SHTvaEIe]
ST GAECHIGATEIS! Hed Siell 3Te.
HHTRTR o ST T e e
WX e FAfad Y A A
HTHITSh - AR deh giseahld @&l
“hfsd sl

SR -de e gt B Toaa
Arfor srgcaer urfkaifsras  etrfun

TrereRie=a qesTIwaeR @& whisd
L

FARTRERT iR T T ST
HEhH AT TWERESGHEY A hiad
HI.

S ol o dTedrd 3TN SeRi e
EL"I{|0¢|‘-|"| ST =
(A) BTH

(B) sTgehfcTeh

(C) Heahrl

(D) FIFHH

(B)

(&)

(D)




11.

12.

13.

Positive affectivity and Negative

affectivity schedule is standardized

by :

(A) Watson, Clark and Tellegen

(B) Weston, Collins and Twenge

(C) Tellegen, Weston and Clark

(D) Willson, Clark and Tellegen

Out of the following which one is not

a part of Ashtanga-Yoga ?

(A) Yama

(B) Niyama

(C) Dhouti

(D) Pranayama

As a measure of item difficulty

P = 0.15 would indicate that :

(A) The item is relatively difficult
compared to an average

(B) The item is relatively simple
compared to an average

(C) The item is erroneous

(D) The item needs to be deleted

11.

12.

13.
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ThRIcHeh TaACHehal 30T TehRIcHeh

e,

(A) dHA, Felreh A0 TeAifS
(B) 9%, Sicid 3T <&
(C) <efifsH, o amfur edreh

(D) fooum, aomen emfor Sefife

TIATATHRT HIOTAT  ATSST - T
9T AT ?

(A) |

(B) f=m

(C) et

(D) wrUmE™

faenma wifevauraxsdi=a 9199 FgU[A

P = 0.15 <¥fad =t

(A) TUE= qerd faum wa TR

(B) TG qoMd fasm diY emg

(C) foum g9 o

(D) faum S aTevar! TS 378
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14. Match List I with List IT and select | 14. 3@l I 37for =t 11 #efiel Sireen o,
the correct answer using the codes Sl e HehdTaT SATT hEd TR
given below : S!S

List I T

(Traditional Terms) (TR H)
(@ Telencephalon (@) ST
(b) Diencephalon (b) SPATTHAA
() Mesencephalon (c) HETHC
(d) Metencephalon (d) HETHHAA

List II ot 11
(Structures) (TT=r)
(1) Cerebellum (1) wHfEsh
(2) Tectum (2) =
(3) Cerebral cortex (3) HIETh wTedsh
(4) Thalamus (4) <dETHR
Codes : Hichdleh :

@ ®) @ @ @ ®) @© @
A @O 2 & @ A 1 @ @ @
B) @ @ @ @ B 3 @ @ @
©@w O @ 6 © @ O @ @
D @ 6 @O @ D @ 3 1) @




15. Match the following concepts with

functions :

(a)
(®)
(c)
(d)

(1)

(2)

3)

(4)

List I
(Concepts)
The trichromatic theory
The opponent-process theory
Retinal disparity
Convergence
List II
(Functions)
The slight difference in lateral
separation between two object
as seen by the left eye and right
eye.
The turning inward of the eyes
which occurs when they focus
on a nearby object.
Second state of colour
processing.

First level of processing which

occurs in the retina of the eye.

Codes :

A (D
(B) 4)
©) 2
D) 3)

(@ ) (©
2) O
3 @
1 @)

4) (@)

(d)
(4)
(2)
3)
(1)

JUN - 13220/I1—B

15. AT 1 (Heheun) emfor It 11 ()
I Sedl AEl 9 Jerd HohdlhreAl
YR IW = :

(@)
®)
(c)
(d)

(1)

2)

3)
(4)

arer 1
GETR)
i fagia
fareft-ufsren faga

TS ST

STET
et 11

(Cap))

S IEgAHE TRE foerfieRdia
fRfaa Wi St ere ST 3sean

N o o N
Slogdll Hilecdl sildl.

€led ST SITS[H oadld STegl 3Tl
TSI STHUAT TR AL ehisd
.

TT gfsharet Ul 7T

TIH Tl Wihal S Sleddr=al
YA TS

- -
.
-

A (D
(B) 4)
©) 2
D) 3)

(@) b) (o)
@2 @)
3 @

L @
4) (@)

(d)
4)
(2)
3)

(1)

[P.T.O.



16. Match List I with List II and select
the correct answer using the codes
given below :

List I
(Theorists)
(@) Jung
(b) Adler
(¢) Horney
(d) Erikson
List II
(Concepts)
(1) Hypercompetitiveness
(2) Epigenetic principle
(3) Archetypes
(4) Social interest
Codes :

(@ b)) @ ()
A @O G @ @
B @ @©O @ @
< @ 3 @ @
D Q3 @ @O @)

JUN - 13220/I1—B

16. ST I (o1 AeT 11 Armefier Siresn e
9 YA GehdlheAl MER SW =l ¢

RICUN |
(Fagiaer)

(@

(b) IS
(¢) =
(d) TR

(1) erfereae
(2) A T
(3) mfeEy
(4) grHTfSTeR  Tfve]
Hehdich :
(@ b)) (© (@

@ @1 3 @ @
B 2 O B @
© @ 3 @ @)
D B3 @ @O @

10



17.

18.

Assertion (A) :Collins and
Quillian’s network
model found that
to take

longer to verify “A

people

shark is an animal”

than “A shark is a

fish.”
Reason (R) : According to
hierarchically
closer super-
ordinate category
are easy to recall
than remote super-

ordinate category.

Codes :
(A) Both (A) and (R) are true, but
(R) is not the correct

explanation of (A)

Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
Which model that
aggression is triggered by a wide

(B)

suggests

range of input variables that
influence arousal, affective stages
and cognitions ?

(A) General aggression model

(B) Drive model

(C) Frustration aggression model

(D) Provocation model

17.

18.

JUN - 13220/11—B
faa™ (A) :wifa enfor faafaas

AT Aeaeh Hige ‘IR
T U Sy’ Uem ‘v
9ot R’ ® wedrud
HITITETST ATerh I
AT

st viiganr Saz=al
UATEAe vl =
RaAfeAe Sofidan TR
HO G 3.

i uT (R) ¢

‘Fl@?-ﬁﬁ :
(A) (A) 9 (R) 9 s a3, W
(R) T (A) = 3T TR0 TGl

(B) (A) 9 (R) Tl ISR 3TTed, ST
(R) § (A) 3 3T TR T

(C) (A) T SR 38, Wg (R) T I
3R

(D) (A) B I% 3R, WG (R) § SN
318
fafay gerr=t afteed =r=n aftomg SeRo,

qfeh TH 9 SNYAER 8ial, STehHehdael
TR AT, S HI0d Fiaed HqTd 2

(A) 9T 3ehHehdl 9faed

(B) ¥EET Yfa&d
(C) IHI-ATHAT Ffaed
(D) TauEti gfasy

11

[P.T.O.



19.

20.

Match the following List I
(Developmental Stages) with List I1
(Age)
List I
(Developmental Stages)

(@) Early childhood
(b) Middle childhood
(c) Late adolescence
(d) Adolescent

List II

(Age)
12-18 years
16-18 years

(1)

(2)

3)

4)

Codes :
(@)

(A) (4)

(B) 3)

e @ @ @O O

O @ @2 6 @

Which is odd among the following

for HIV ?

(A) Use of same syringe

(B) Blood transfusion

5-12 years
1-3 years

(b)
3)
(1)

(c)
(2)
4)

(d)
(1)
(2)

(C) Sharing drinking water
(D) Feeding mothers

19.

20.

JUN - 13220/I1—B

et 1 (Seh1iyeR 37er<ern) o At I1 (39)
S[eee et feeied Fehdmiiel Saar= ard

= fHeer

(CR))

1) 12-18 9
(2) 16-18 T
(3) 5-12 TH
(4) 1-3 T
Hehdich :

(@)
(A @)
(B) 3)
© 2 @ 1O O
O @ 2 6 @
TS A3 Weiadsh! o fas=
e ?

(A) IREIE TORMEE] STANT 0]

(®)
3)
(D

(c)
(2)
4)

(d)
(1)
(2)

(B) T HHHT
(C) furaren qvgE TSR &0

(D) &Y ShIOM=AT {Idl

12



21.

22.

23.

Which among the following schools
emphasized on Introspection as a
method of study ?

(A) Gestalt

(B) Structuralism

(C) Humanistic

(D) Existential

Which of the following is a correct
about assumption of homogeneity of
variance in ¢-test ?

(A) Sample variances of both
groups are equal

(B) Population variance is normally
distributed

(C) Sample variances are equal to
population variances

(D) Population variances of both
groups are equal

When the rater knows student’s
standing on an aptitude test and he
is asked to rate the student, then this
is considered as an example of :
(A) Cross validation

(B) Criterion contamination

(C) Criterion validity
(D) Face validity

21.

22.

23.

JUN - 13220/11—B
AqHaerT g sTeIHUgd AR 3Td

G I foaRyamE™ SR <A
giftaar 2

(A) FHSR

(B) H=AER

(C) HIerdrarat

(D) sAfEfceans

-2 wefte faaaarsE
TEIqehT=AT e JIeTuehl Shivrd aIeR

A ?

LSRR

(A) T e THAT forereT™ 9rAg 3TTed.
(B) ciehaE foae & 9 faawor g

T AR,
T forare sTftn deheen fa=em
A 3.

Sl T AhEEd fa=ed 9@
3TRd.

Siegl UEYEaT U1 ekt faneats
AfYerar Im=viea TE Aifed STEd
3o ey M famneats farmdn

qeYEd U oA o Hishae 319
RUIdid ¢

(A) fods Fenefienon
(B) T Gl
(C) T Femedan
(D) H@a JAreddl

(&)

(D)

13

[P.T.O.



24.

25.

26.

Lumber punctures can be used to
diagnose :

(1)
(2)
3)
(4)
(A)
(B)

Bacterial meningitis

Viral infections

Brain abcess and tumor
Multiple sclerosis

Only (1) and (2) are true
Only (2) and (3) are true

(C) Only (2), (3) and (4) are true
(D) Only (1), (2), (3) and (4) are true
Unmyelinated intervals on axons
are called :

(A) Myelin gap

(B) Nodes of Ranvier

(C) Schwann cells

(D) Axonal void

The feeling of being aware of
knowing something and being
confident that will be remembered,
but wunable to retrieve the
information at that point in time.
This called

phenomenon is

(A) Suppression
(B) Repression
(C) Tip-of-tongue

(D) Interference

24.

25.

26.
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HfesemE & MEH™E e K
(1)
(2)

2 (aW e o

FREa A STy
T SR,
(3) g TIEH d YW
(4) wAfceTd WRAUEY
(A) e (1) 307 (2) T 3
(B) e (2) (0T (3) SR=R 3Me
(C) ™ (2), (3) 0T (4) SR e
(D) e (1), (2), (3) 0T (4) SIS 3T

H&FAq SR Hrfer TEeied fodmTT 318
Hergdrd

(A) gEfe T

(B) gq 3 TAfeat

(C) wor Tt

(D) THEIHA ®IsS

HTEAL Hifed! STHUATE Sule ST ST

T MBI SEd ATl STHfaa STHal.

TG e ot Ffedt AT 7 e I,
e — o T

(A) Ty HO

(B) 3Ty <HU

14
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property of language ?
A) frafgauer xfea
(A) Regularly structured (&)
(B) Generative, productive (B) 3cIRA&H, IHICH
(C) Highly derivative (C) 3Tcdd a1l
(D) Dynamic (D) TfaRier
28. Choose the correct alternative from 928. W sToraT SYefEafaTER wTeh
the following about Assertion and T SgE TEEE fae w4
Reasoning ? .
faam (A) : gooren M fohan Suaftear
Assertion (A) : Trivialization is a .
%l U fauaer seeeny
method of . .
O TSl TR
managing disso-
&RUT (R) : T[orfasisl onfor adq @
nance
Reason (R) : Attributes and AR e, SN q A
behaviours which T
are not important Tehdiah :
are thus not (A) I (A) ST (R) T 3T 37T
consistent. (A) ¥ 9% TS ST
Codes :
(B) (A) T HH 3¢ &0 (R) § 39A
(A) Both (A) and (R) are true and _—
(A) is the correct explanation.
(B) (A) is true and (R) is false ©) (A e R (R) & 7
(C) (A) is false but (R) is true e
(D) Both (A) and (R) are false (D) (A) 7 (R) & Tr2ME1 3T 3R
15 [P.T.O.



29.

30.

31.

Somatic and visceral changes occur
when an emotional stimulus is
perceived is proposed by ..................
theory.

(A) Arousal

(B) James-Lange

(C) Schachter’s self-attribution
(D) Cannon-Bard

When distribution of income
consumption or expenditure taken
in relative terms with poverty, it is
known as ........ce..... .

(A) Absolute poverty

(B) Relative poverty

(C) Low line of poverty

(D) High line poverty

A person with moderate mental
retardation has an IQ in the
following range :

(A) 70-90

(B) 35-50

(C) 60-70

(D) 20-35

29.

30.

31.

JUN - 13220/I1—B

Siegl e SfEUshre Hoed Bid dogl

SHIfaeh 3T SR dIgel TS I, Tl

fagia wwaifad o1,
(A) SO

(B) SE-T

(C) 3meRT= Fo-fagioe

(D) HTI-a1e

TIRGEaR=aT qriel HIHEA Segl
g 3UE forar @ faawor Sqen
STl de’l o
.

(A) TRus <isa

(B) wmaar g

(C) <ifsEm=t =1 I

(D) =TIRgar=t 3= o0

Aele AIgG! =l iGN ol

T 3Tl ;

(A) 70-90
(B) 35-50
(C) 60-70

(D) 20-35

16



32. The term psychoneuroimmunology

33.

is associated with which of the

following ?

(A) The relations between
psychological factors, brain and
immune system

(B) The relations between lympho-
neuro-endocrine

relations between

(C) The
endorphins, sex hormones and
growth hormone

(D) The relations between serotonin
and endorphins

According to Buddhist teachings

‘NIRVANA’ represents an escape

from wheel of life and death, which

is a doctrine carried over from :

(A) Judaism

(B) Hinduism

(C) Sufism

(D) Jainism

JUN - 13220/I1—B

32. FASSIQUTAeTTareme & Hell WIeieTish!

HIT TN Fesdia e ?

(A) AT w2, Hg oMo gfasrar-

TSdgeial gae

(B) AfERI-HSIIeq—STaemeAelie Tay

(C) teife, fam dfma snfo g
PIRICERICRSC D]

D) v enfor Teifeanedta

Ty

33. dig Fremariiger, frafo’ wos gy snftr

STaTahIIYA gehl, & Aol

[a N0
?

HIVTITEA Brdell e
(A) 7gdt o
(B) feg v

(C) g
(D) SHYH

[P.T.O.



34.

35.

WAIS-IV  (India)
characterized by the following index/

is mainly

indices :

(I) Full scale 1IQ

(II) Verbal Intelligence Quotient

(ITT) Performance Reasoning Index

(A) (I) only

(B) (II) only

(C) (I) and (II) only

(D) (I) and (III) only

Which of the following alternatives

is correct for the Assertion and

Reasoning statements ?

Assertion (A) : DIQs as measure of
intelligence are
preferred over 1Qs.

Reason (R) : To overcome the

decimal fractions in

IQ values DIQs are

used.

Codes :

(A) (A)is true and (R) is also true,

but (R) is not the correct reason

of (A)

(B) (A) is true and (R) is also true,

and (R) is the correct reason

of (A).

(A) is false and (R) is true

(A) is true and (R) is false

(&)
D)

34.

35.
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o)

WAIS-IV (India) &1 =104
Ereftedent o fdeme € aferse
JMed ?

1) goi-=r=en 1Q

(1) ¥nfge Fhgaa o

(IID)FH dTfheharTar ToTh

A) ®F (D

(B) (1D

(C) (I) enfor (II) ek

(D) (I) smfor (III) e

faem (A) snfor sHror (R) =0 faremiesia
JEIcTush IV TAE AME AR ?

faam (A) : gfgme AR = DIQ
1 IQ=A qoid g fael
S

IQ a1 T[UIRTdIA QTS
3qUTh TevarEel DIQ

= IR el Sl

T (R) :

Hehdich :
(A) (A) 9 2T =717 (R) & 9T =T,
Rd (R) ® (A) ¥ I7g HRU &

(B) (A) & T8 1101 (R) & e T,
T (R) § (A) 9 4T R0 TR

(C) (A) 3TFH ® A0 (R) F 3R
D) (A) I 2T M1 (R) 319 378

18
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36. Match List I with List IT and select | 36. @&l I (o1 =t 1T Hefiel e efre,
the correct answer using the codes BTl rq("“"j'\' h*i*di*lﬂl UM h&d
given below & ITET A€ h{

List I Rk
(Brain area) (ﬁzle ferwmm)
(@) Broca area (@) ST fasm
(b) Wernicke area () aff o
(¢c) PFC (c) HI.UH.H.
(d) Primary motor cortex (d) WAHEH FRF T
List II ardr 11
(Function) (Wﬁb
(1) Non-reflexive movement (1) wfagreafifem g
(2) Speech production (2) =r=n g/
(3) Planning and organization (3) AN o oA
(4) Speech comprehension (4) <=l SAhAT
Codes : Hehdieh :
(@ ®) () () (@ ®) () ()
A 2 @ & @ A 2 @ 6 @
B QO @ 3 2 B 1 @ 3 @
©c 3 O @ 2 € 3 1 @ 2
D @ 2 @O 3 D @4 @2 @) 3

37. Good recall of items of the beginning | 37. It ST<IIA= {i{,qm“m ST G
of the list is referred to as the I 3THd, deal warg g
.......................... W’

(A) Recency effect (A) IR TRom
(B) Primacy effect (B) @ qRomA
(C) Primary recall (C) mafHeh FmEeA
(D) Recognition (D) FeR=H
19 [P.T.O.



38.

39.

Spearman introduced the concept of
g and s factors to reason with which
of the following observations ?

for a
of
variance in the intellectual
ability

Raw scores on intelligence tests

(A) Heredity accounts

significant proportion

(B)
tend to increase with age
(C) Rearranging the order of the
tests along the edge of the
matrix he always could get
what he called a “hierarchy”
(D) Crystallized intelligence is
immune to aging effects
whereas fluid intelligence
displays greater in stability
Wallas'

creative thinking consists of which

of the following ?

Four Stage account of

(A) Inspiration, Research,

Incubation, Confirmation

(B) Preparation, Inspiration,
Incubation, Verification
(C) Preparation, Incubation,

Inspiration, Verification
(D) Inspiration, Verification,

Incubation, Confirmation

38.

39.

JUN - 13220/I1—B

EcATeIdeht shivre fAOemag fegeyTa
ST 27for U SeehTe Heheddl 9igl shall ?

(A) difgeh &THaaEd SAafeTeha JaT
Sl JHOMER 2.

(B) IfgHw wMEvHElid oAl YK

TATTHR e

(C) ==HvI=Al AN JAEAId e
Hf e shea o saren  uersRd

Ul 9 .

(D) fwEearnss  fgHA™

AT Hoki 378 R g FfgHl
Tfereh STfeeRal Wef¥id .

g9 goieid foemr=an |r = od

TITHT

WATAUeh! Ml TP 38 2

(A) U0, GG, STTUO, TeeIehIul

(B) IR, WO, ISHEH, USdAleU

(C) TR, STqUreor, YTOm, gSdiesut

(D) IO, HATIH, AUEO], TR

20
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40. Match List I with List IT and select | 40. 1T I STfo7 =T IT Aefiet Sesn
the correct answer using the codes d TEIE FRAEA AER SW A
given below : RIEUN |

List I (Hehea)
(Concepts) (@) T Suf o IR T
(@) Cognitive and physiological (b) STEfTEH SfEueh, SR A FHehra
aspects of behaviour =g
(b) Emotional stimulus visceral (¢) 3O9H, IUYHATETS wgdt oo
and skeletal muscle changes I faeh I
(c) Stimuli, subcortical systems and (d) 39S Tat wEwg et wafiew
emotional experience RICICETTS
(d) Innate neural programme and et 11
primary affect. (o)
List II - .
) (1) THedT 2MHIRA
(Theorists) .
(1) Silvan Tomkin @) i
(2) Cannon (3) S o i
(3) James and Lange (4) wmERR emfor R
(4) Schachter and Singer Hhdieh
Codes : @ ® © @
NFEE
B) @ 3 @ @ B @ 3 @ @
D) (1) 2 @) 3) O @ @ @ 3

41. Which among the following is | 41. URurHr UG STUSHT IO ASUR
not a Dbarrier in effective AT AT ?
communication ? (A) wufcas SEuw
(A) Competlng'stlmulus B) o
(B) Snap reactions
(C) Correctness (C) Jrga
(D) Group identification (D) T dIeTcHIRTu

21 [P.T.O.



42.

43.

HIV treatment at early stage is
(A) ART

(B) VRT

(C) HRT

(D) TRT

Which of the following alternatives
is true for the statements of
‘Assertion’ and ‘Reasoning’ ?
Assertion (A) : In a folie a deux,
the

secondary case from

separating

the primary can
lead to symptom
reduction in the
secondary.
Reason (R) : Folie a deux is a
mental illness
shared by

persons, of which

two

one is “dominant”
and symptomatic.
Codes :
(A) (A) and (R) both are true and
(R) is the correct explanation
for (A)
(A) and (R) both are true but
(R) i the
explanation for (A)
(A) is true but (R) is false
(A) is false but (R) is true

(B)

1S not correct

(®)
(D)

42.

43.

JUN - 13220/I1—B

AR eI TIATR] SR UGl
3R,

(A) T
(B) AR

(C) THAE]

(D) IR

‘fagm’ ofor ‘srumen’ faummEet
EATCTUeh] IOl 9aid el 3T ?
faam (A) : ‘wieht o1 €' T fasdia,
Y Fekitall g1t
MR faem seam,
A kit foams «g
T,

‘Tlell 3T T ¥ AMES
AR §F Fdl TehTd
el STedl, SgTdshl Teh
JuTel 3T o o= fom
fegam.

0T (R) :

PO

(A) (A) =T (R) SR §cd 3TRd
T (R) § (A) 3TgH TARH
3

(B) (A) affor (R) SI4lEl Hd 3Tad
TG (R) T (A) o 3T TIHI
BRIl

(C) (A) T 9F 3R W (R) T 1T
3Te

(D) (A) 7 39 38 g (R) ¢ I
3

22



44.

45.

What is the meaning of

“Tasawwuf” ?

(A) Priesthood

(B) Islamism

(C) Suffism

(D) Humanism

In a research elimination of
alternative causes is an essential
feature. This elimination is achieved
only through ..................... method.
(A) Experimental

(B) Quasi experimental

(C) Exploratory
(D) Correlational

44.

45.

JUN - 13220/11—B
TEIHA 3 HE AR ?
(A) EHIuReR
(B) g
(C) gwigH
(D) WAFEdETE!
HENY TR TR oS hI0l STewah

(D) HeHSHR

o 46. I w9 faveaad=a faefad ghrm
46. In an alternate form reliability in )
YA F=R0ME 3T M 7 3T9d ¢
delayed type, the source of error
variance would be : (@D g
(I) Content sampling (II) §"a T
(II) Time sampling Hehdish :
Codes : (A) w1 (1)
A) (I 1
(A) (I only B) w0 (1D
(B) (I) only
(C) e (I) afur (1)
(C) Both (I) and (II)
(D) Neither (I) nor (II) D) @ (I) <T=TE et
23 [P.T.O.



47.

48.

The circle of Willis :

(1) Allows cerebral redundancy

(2) Is formed by anterior branches
of internal carotid

(3) Is formed by anterior and
posterior communicating artery

(4) Is formed by posterior cerebral
branches of basilar artery.

Codes :

(A) (1) and (2) only

(B) (2) and (3) only

(C) (1), (3) and (4) only

(D) (1), (2), (3) and (4)

When learning takes place without

actual performance, it is called

(A) Latent Learning

(B) Learning distinction

(C) Observational learning

(D) Behavior notification

JUN - 13220/I1—B

47. THa e fafay :

(1) wHiETsh SHETIhae IRar od.

o Nes

(2) 3dfer HATES=AT 31U FHicdH TR

B

o

(3) 3T 9 YT HUSH TR e dIR

7.

(4) R WA= 999 HicdH TR

B
Hehdieh :
(A) el (1) Mo (2)
(B) e (2) U (3)
(C) & (1), (3) =7fur (4)
D) (1), (2), (3) =7foT (4)

48. gl ez THedHIeTa e ddl degl

(A) ga A
(B) 31e79A 9
(C) THOeromcHess 1eTem

(D) I aRedd
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49.

50.

According to Miller (1990) the two
fundamental problems in speech
perception depending on context
are :
(A) Speech is continuous and a
single phoneme sounds
different.
Speech is continuous and that
multiple phonemes sound the
same.
Speech is monotonous and that
multiple phonemes sound the
same.
Speech is monotonous and that
a single phoneme sounds
different.
Match List I with List II and select
the correct answer using the codes
given below :
List I

(Concepts)
Oedipus
Mandela
Fictional Finalism
Crisis

List II

(Theories)
Analytical Psychology
Psychoanalysis
(3) Psychoanalytic Ego Psychology
(4) Individual Psychology
Codes :

(@)
(A) 4
(B) (1)
€ @)
(D) (@)

(B)

(&)

(D)

(@)
(b)
(c)
(d)

(1)
(2)

)
3)
3)
(1)
(1)

(c)
(2)
4)
3)
4)

(d)
(1)
(2)
(4)
3)

49.

50.
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e (1990) =1 Hd HIHUER o

TG T JAYd FEET JRITgHl

3Rd

(A) o FReR 318 o71for Wk eat fo
T .

(B) o At oTR 371fUn 3feh eat U
.

(C) oo THARE AT} (VT ek &at
ek AT

(D) o1 ThYL & ST Tk ea
= e

ISt T for A1t 11 Frefict Siesi o o
qelcl Hehdlehl=Al STMER ST T ¢

RICUN |

gfeqd
eS|
e et
EELE
iGN |

forgetoureret AERTE
HAIgATUETE
(3) fovcivuEEl 18y AR
(4) STHT TGRS
Tehdiah :

(@)
A) 4)
B) 1)
©) 2
D) 2)

(@)
)
(c)
(d)

(1)
2)

)
3)
3)
(1)
(1)

(c)
2)
4)
3)
4)

(d)
(1)
(2)
(4)
3)

25
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51.

52.

Match Column I and Column II
using the codes given below :
Column I
(Postulates of Field Theory)
(@)
)
()
(d)

Topology
Valence
Life space
Vector
Column 1II

(Explanations)
(1)
(2)
3)

Psychological Field
Influencing force
Connectedness and part whole
relationship
(4)
Codes :
(@)
(A) 3)
(B) 4)
© @
D) 4)

Attracting or repelling

(b)
(4)
3)
2 G @
1 @ O

An anhedonic patient shows :

(c)
1)
1)

(d)
(2)
(2)

(A) Memory loss
(B) Fear of heights
(C) Inattention to detail

(D) Loss of interest and pleasure

51.

52.
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et foetiedn Tehdishrel ST e WY
[ =for w9 11 el e e .

w1
(&sita fagiarer TEidd)

EEQNEECI
et
SIEEEEEEIN
S|

Wy II

(T ieRtuT)

AR &5
qford RIOT=AT STeRt
STOT:-HHY FaY 07 7oy

(@)
b)
(c)
(d)

(1)
(2)
(3)
(4)
Hehdiah :
(@)
A) )
(B) 4)
o ®» @ B @
D @ @O @ O

TRee Tume ¢ foe fadd -
(A) wfayw

(B) == it

(C) IREHAHS TAL

(D) sfiesl @ g |-

Rtehal forar HAT gefaol

(®)
(4)
3)

(c)
(D
(1)

(d)
(2)
(2)
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53.

Match List I with List IT and select
the correct answer using the codes

given below :

53.

JUN - 13220/I1—B

et 1 21107 At 11 Aeftel St oren 7ty
el fedtedn Hehdishrl STANT &
g IAUEl e w4 e

List I Iqrat 1
(Name of Syndrome) (FALUTS 1)
(@) Clérembault’s syndrome (@) R T
(b) Dhat syndrome .
(b) ord FA&l
(¢c) Capgras syndrome . .
(d) Cotard syndrome © W%TUT
List II (d) Frere waem
(Description) ardt 11
(1) Premature ejaculation and (Fui=)
impotence (1) & Toed a THH
(2) Delusional belief that one is (2) MUV YA THEEET W
dead . 3) HEE
(3) Erotomania @ 3 -
(4) Imposter syndrome e
Hehdich :
Codes :
A 3 1) @ (2 A 3 1 @ @
B 2 3 1 @ B 2 B8 Q1 @
< @ 2 3 @ < @ @2 @3 @
D) M @ @ @) D 1) @ @ @)
54. Which —one s not a social | 5y griaiEr FoR T W T 2
blem ? S
problem | A)
(A) Government jobs
(B) Poverty (B) <IRS
(C) Poor cleanliness (C) = T
(D) Population (D) ATRHGE
27 [P.T.O.



55.

56.

Given below are two statements,
labelled as Assertion (A), and a
Reason (R). Indicate your answer
from the alternatives given below :
Assertion (A) :Health of human
being is multi-
dimensional.
Health is a state of

complete physical,

Reason (R) :

mental and social
well-being and not
merely an absence
of disease.
Codes :
(A) (A) and (R) both are true and
(R) is the correct explanation
for (A).
(A) and (R) both are true but
(R) the
explanation for (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

In a standardized regression

(B)

is not correct

analysis, the value of intercept
is :
(A)
(B)
©)
(D)

one
Zero
close to one

close to zero

55.

56.

JUN - 13220/11—B
et faer (A) Sfor R (R) SwRit deret
FHere! S o feelt eed. ared! foeiesn
ERIRIE UGG A T ECE

faam™ (A) : 9959 9IS ®
AT 3T

SR § HWYUid: RN,
qfges o gmErfSs

ERTCr= TErdt S shees
SSIRET 79T 3T &l

%rUT (R)

PO
(A) (A) 37T (R) § Sl SR 3TTe 0T
(R) & (A) = Irg TIeh{0 3R,

(B) (A) ST (R) % <11 SRR o8 g
(R) § (A) ¥ Iy TqaRI0 gl

(C) (A) s 38 g (R) T I 318
(D) (A) % 3% R (R) § SR 3T

JIford FHISEE faversomes, sTaiee™
t@aw%r:
(A) Th

(B) I
(C) TWeh Sdes

(D) YA S
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57. Group tests are characterized by : or. I F :
(I) Multiple test administrators (D THr S fafqy aroigemas
administer the test at the same SEREATHE =A=ET qdid.
time. (II) Tehra oot fafaer =m=ofigemess
(IT) Administration of the test on oAU =FM=oiEl ST gdrd.
number of test-takers at the (II1)TehT I=vi=ar 3k Udl Suclsd
same time. 3AHdM.
(I1I) Availability of multiple copies of dEaiw
the test.
Codes : (&) w1 (1)
(A) (I) only (B) ®ed (1)
(B) (II) only (C) wad (1) 3Tfor (II)
(C) (1) and (ID) only (D) (D), (ID) s7fer (IID)
(D) (D, II) and (III) ;
58. MRI technique : 58. TH3.4H. o )
(1) Relies on hydrogen protons (1) TS EiIEUI ENECHIEEERE
(2) Requires radioactive isotopes (2) Wé fesitfoess sTaEeT=i TR
(3) Uses radio waves and magnetic A N
fields (3) el gt 9 Feloh &ATAT AU hd
(4) Provides clearer images than (4) g%.??r. Tl T2 FH1 I HE
CT. U
Codes : A) w1 9
(A) (1) and (2) only (&) (1) s (2)
(B) (1) and (4) only (B) et (1) ST (4)
(C) (1), (2) and 3 only (C) wF (1), (2) =T (3)
(D) (1), (3) and (4) only D) wH (1), (3) S (4)
59. Gordon Logan and Joseph Etherton | 99. ’|Tgi:'| \§i|:ﬁ||:| S’TI'FET SE% e ?:ﬂ_"gf
Llcdletleh] <h[UIdl HHl/ AT Jldd
proposed .........cccceuunen. . . St 2
(A) The phenomenon of attentional 0
capture (A) TIeThigd WIS
Eg; Xltlfori of f‘itu}rle intigra_ﬁon ] (B) wfass wesiierto fagia
entiona ypothesis o o
automatization (©) ) EEELIVEE
(D) Automatic processing (D) wIEfad gfewa
29 [P.T.O.



60.

61.

62.

Which of the following should
be explained by ‘Theories of
meaning’ ?

(1) Anomaly

(2) Self-contradiction

(3) Ambiguity

(4) Entailment

Codes :

(A) (1) and (2) only

(B) (1) and (3) only

(C) (1), (2) and (3) only

D) (1), (2), (3) and (4) only
Which among the following will not
increase an individuals group
confirming behaviour ?

(1)
(2)
3)

Smaller group size.

Feelings of insecurity.

When groups cannot observe
individual’s behaviour.

Codes :

(A) Only (1)

(B) Only (2)

(C) Only (3)

(D) Both (1) and (3)

Ontology refers to :

(A) Understand the nature of
society

(B) Understand the nature of
community

(C) Understand the nature of
universe

(D)

Understand the nature of being

60.

61.

62.
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‘ 1o fagiar=n’ gR Eelierisht ShIomd
e o s ?

(1) fomdt

(2) IR

(3) wferer

(4) eAfremd o3aM

Hehdich :

(A) ®e (1) 7T (2)

(B) & (1) (0T (3)

(C) ®e (1), (2) &7fur (3)

(D) K (1), (2), (3) (0T (4)
WCATAUhT SRV Teh TS SHeRitel THE

gl Amedid e ?

(1) 9HEMT 8H 3T
(2) STYIaIaa=t e

(3) iRl g HKird o & i
&l

Hehdidh :

(A) wa (1)

(B) W (2)

(C) wa (3)

(D) (1) 71 (3) et

(A) TN UE GHSO!

(B) T TEHE GHSTO!
(C) fava wyE gusol
(D) AfKE @Y G0l

30



63.

64.

65.

Festivals are examples of :
(A) Enthusiastic Behaviour
(B) Cultural cycle
(C) Social norms
(D) Social values
Match the List I (theories) with List
IT (theorists) :

List I

(Theories)

(@) Disengagement theory
(b)
(c)
d)

Activity theory
Age stratification theory
Person-Environment fit theory
List 1I
(Theorists)
Lawton
Riley

Cumming and Henry

(1)
(2)
3)
(4) Havighurst and Neugarten
Codes :
(@)
(A) 3)
(B) 4)
e oL 2 @ B
D 2 & @O @
...................... is the philosophical

)
(4)
(1)

(c)
(2)
3)

(d)
(1)
(2)

study of being.
(A) Philosophy
(B) Ontology

(C) Etymology
(D) Spirituality

64.

65.
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(B) WiEhids =HeATEH

(O ICISEIREEY
(D) 9IS Hed
I I (FagTa) 3 A=t 11 (IS Sesad

@l feoicd Hehdiehldidd STl

R
(fagia)

(@) =g faga

) fwrawiea fagd

() T T fagid

(d) TexRi-qAieRy garg fagm
rer 11

(frgiaern)

(1) red

2) T

(3) wHm efor

(4) BeTEE i IR

Tehdiah :

(a)
A) 3)
(B) 4)
C) (1)
D) @)

®)
4)
(1)

(c)
(2)
3)
4 3)
1 @

B A= G

(d)
(1)
(2)

(A) e
(B) TS

(C) Heqfaemed
(D) aAreATfcHRdT
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66.

Read the following paragraph and
answer the six questions (66 to 71)
that follow :

A researcher has data (sample n = 500)
on eight personality variables i.e.
Activity, Sociability, Talkativeness,
Warmth, Anxiety, Worry, Anger,
and Depression. The correlation
matrix was evaluated for
factorability by Bartlett’s Test of
Sphericity (p < .001) and KMO = .86.
The eigenvalues were 3.2, 2.4, 0.54,
0.42, 0.41, 0.39, 0.37 and 0.27. She
used principal component analysis
instead of PAF. Using Guttman and
Scree criteria retained factors. The
varimax and promax rotations were
used.

The PCA shall :

(A)

(B)

result in oblique factors.

be second best to PAF in
extracting variance.

(C) account for less than 100%
variance in full solution.

(D) result in general factor.

66.

JUN - 13220/I1—B

g3l Uii=se dr= S0 SelTe! shoted

T YT (66 O 71) S O

TNesihe fwafiaar, qmrfsed,

Tfogsean, fasica, fordn, wTegstt, T oo

R 1 1S Al TRAdhIER TR
YA (A n = 500) 3R Scieeie=
= 9= (p < .001) S
KMO = .86 gR =2 foIeeionmic! wedey

AT Jeiehe el Tl TS e ¢ 3.2,
2.4, 0.54, 0.42, 0.41, 0.39, 0.37 371

0.27 Bd. faq duuwiss &g w2
foreerom AT, qEAA ST Wi FeRer=T

IR e H2eh TEAT acl. RUHT

o YR =ghadd ot T

forare™ Trsientond fuuwhen gHY

walvq TIg TR

YUl SweHed 100% Y& I
foaemEE T &

T 9 UEh o

()

(D)
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67.

68.

69.

What is the percentage of variance
first unrotated PCA shall explain ?
(A) 10%

(B) 12.5%

(C) 32%

(D) 40%

Which of the following is correct
about KMO value ?

(A)
(B)

It is low since it is below one.
It is low since it (1 — KMO) is
close to zero.

(C) KMO uses correlations and
partial correlations

(D) No conclusion is possible since
P-value not given.

How many factors can be retained
for rotation using Guttman and
Scree criteria ?

(A) One

(B) Two

(C) Six

(D) Insufficient information

67.

68.

69.

JUN - 13220/I11—B
T 3T-=ehatad drees fodt f9
Tl e ?
(A) 10%
(B) 12.5%
(C) 32%
(D) 40%
HUHsT JeAaEd Weeden! v aeR
R ?
(A) jrﬂ% TEHIE HHl STHEAMHS T HH

(B) @ & 3 RO (1-HTHA)

YT ST
(C) HuHST e T 7Y Tedey
EIREK|

ENEESE

(D) H-Hea el THIM Shivrder fens
I AR

TEHA AU Thi AMCSTE dTR HE
JHhadaTgISt frdl ®ew 39d TS

(A) T=H
(B) 3
(C) =l
(D) g Hife

70. The varimax rotation shall resultin: | 70 Zfigg TFHada=r wRomm "
(A) factors useful for higher order o
. (A) T=d 3ET o ToReToomars! Suge
factor analysis N—
(B) identical pattern and structure
matrix (B) THURE Y Mfo] weey g
(C) different pattern and structure (C) = wed amfur WHX Hfew
D) H;?tnxt' that d ts fi (D)WWQWW
phi matrix that departs from
identity matrix > ST
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71.

72.

73.

74.

Bartlett’s Test of Sphericity results
indicate that correlation matrix of :
(A) population is not identity
matrix.

(B)
(®);
(D)

Interscorer reliability is best suited

population is identity matrix.
sample is not identity matrix.

sample is identity matrix.

for the study of ............... type of tests.
(A) Achievement

(B) Projective

(C) Ability

(D) Adjustment inventories

The RAS is responsible for :

1
(2)
3)
(4) Selective attention
Codes :

(A) (1) and (2) only

(B) (3) and (4) only

(C) (2), (3) and (4) only
D) (1), (2) and (4) only

Model of letter and word perception

Arousal
Wakefulness

Facial expressions

is given by ...................

(A) McClelland and Rumelhalt
(B) Reicher and Bobbin

(C) James Gibson

(D) Kozlowski and Cutting

71.

72.

73.

74.
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SRR THRE R = A=y gfed e
1 Fegey 9rul ©

(A) TREEId sTEefed TRl e
(B) TIhEEAd STESfedl ARult 1Y
(C) q=ma SFEfedt wret el
(D) 9= AFEfEE AR 3R,

Y HIOT=AT S E{Ja?ﬁmﬁ?r T
go{%olw“lqdl BT IO ST AT

(A) HURA
(B) 9&T0
(C) &HdT
(D) FHESHE G

FARCTH. TGS SOEERN TEd

(1) STRo

(2) S

(3) =E=TEld MEAET ST
(4) o< @M

Hehdieh :

(A) w (1) Tfr (2)

(B) el (3) MU (4)

(C) e (2), (3) 3TfuT (4)

(D) ®e (1), (2) 3fU7 (4)

SIESES 3:|lb| NEH HOIQ"I PIESH °|'>U||
e ?

(A) Haclicls 70 EHcEee
(B) TR enfor sifei=

(C) w=g firegd

(D) IR Ao T
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75.

76.

Three main principles of association

according to Hume are :

(A) Contiguity, Differential
grouping, Familiarity

(B) Contiguity, Differential
grouping, Similarity

(C) Contiguity, Similarity,
Causation

(D) Continuity, Similarity,
Familiarity

Cyber bullying shows which of the
group dynamic behaviour ?

(A) Bystander effect

(B) Social Loafing

(C) Deindividuation

(D) Prosocial effect

75.

76.

JUN - 13220/11—B
FYIIER Fqau= dF qed fagid
E I

o~

(A) e, fa¥uger Tesgdl, Riadd

(B) 9ifHem, fav9gesr Tedsdl, THME
(C) HIfed, |HA, SRl

oo

(D) e, gamar, 9iifea

IV TR TAHM a1 § HHoR BB
Tufferd
(A) >=E 9o

(B) TmifSTeh ifteT (71eed)

77. What role do hormones play in | 77. Wt ¢iffteh acTd TOReRT= fHeRT HIowT
human sexual behaviour ? 3Taq ?
(A) They affect men’s behaviour (A) feraien . ; :
more than women .
(B) They can influence, but do not n e
det ) h 1 (B) O W9E Ihad, U HEE! i
etermine human sexua
_ A FEReT Fa ARd
behaviour ’
(C) The completely control human (C) welt WAfTeh = ili EEEREL
. h {dld.
sexual behaviour
(D) They have almost no effect on (D) T AME e FAAER Saeury
human sexual behaviour RO I T
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78.

79.

80.

Which of the following is an

advantage of e-learning ?

(A) Learning opportunities in
remote areas

(B)

(C)

Easy to learn

Learn with learners own
convenience

(D) Education is delivered to their
computer

Alanon is a group intervention for
families of people with :

(A) Mental retardation

(B) Alcoholism

(C) Cancer

(D) Alzheimer’s disease

If KR-20 reliability of a test is found
to be low, then which of the following
could be the most important
reason ?

(A) Inadequate content sampling
(B) Poor interscorer agreement
(C) Higher difficulty level of the
items

(D) Test is lengthier

78.

79.

80.
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EATAdehT Shival Teh 3—{IT&I0T= HReT
e ?

(A) TTY el foreom=h wef
(B) forervoarg 9m

(C) Tersrum=am=an = gfagqan
INER

(D) Tereror & == e fadfid g

TAHH & T SR Sdl g1 S0
TREREEST TIM99 H{0ad STl :

(A) wfdieea
(B) gl ot
(C) & AT

(D) TegmaAT

AT Sh—3TR-20 Taveraiaar s¥ =

N

HTog 3Tl 3THA T S Weerushl

gald He<aTd hIvld k0l 3@ 2

(A) ST TR T

(B) &t e gl

(C) faumm=t S=u fose Udes

(D) <ieiehes MU =M=
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................... is the idea that the
characteristic of a person or group
are significantly influenced by
biological factors and are therefore
largely similar in all human cultures
and historical period.

(A) Metaphysical essentialism
(B) Essentialism
(C) Psychological essentialism

(D) Classical essentialism

81.
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eI 31eET el Ui Sifaw
eehies YW BIard weU[E o Sgarel
Td AFaT FEhdmE) 9 Uaglide Hied
T oA 3drd =1 foamens
FBUTdATd.

ONEE R I RE RS CERETICI
(B) AEIHAEE
(C) AFERTHEHE TMEavIshaag

(D) IS STEvIehaETg

82. dC,Oﬁlpar,eg, t(f), tSpee(i, teSt’t ‘: 82. Tl WUl gad, WHed =i
istinguishing feature of power tes
o 8 8 P Sftre mOS
(A) Overall difficulty level of the (A) FeRREROTS! S feedt T
test is very high 3fd I=9 F9d
(B) Test takers are penalized for (B) Thi=A1 SIS Reneat=s o7 =T
wrong answers grard
(®) l\lTlumbeE‘ oftesi(:iitems are more (C) TR =Evien gEy =@mE ged
than the speed test o
(D) Reverse scoring procedure is . RN —
used in calculating the final (D) am g
score gl STRuErd Ad
83. The calculation of mental age | 83. HHfHeh AT HTF HTAH THEAN A=
basically involves : YR 9did
(A) Procedure and logic of (A) TorRTEcHe: AT U5 o MEA
developmental norms T
(B) Procedure and logic of within N
gToUp NOTMS (B) ¥eHMe TSl 9 ML qoh
(C) Comparison of gradewise (C) SUIHR Fefl SIEeAT= G
performance variation (D) =rerviidier wh foemmee fmder
(D) Comparison of gender qar
differences on an item in a test
37 [P.T.O.



84. Resting membrane potential is :

(A) 70 mV
(B) 85 mV
(C) =70 mV
(D) -85 mV

85. According to Yerkes-Dodson law
................... is an inverted U-shaped

function of arousal, with the optimal

more difficult tasks.

(A) Motivation; arousal
(B) Performance; vigilance
(C) Arousal; performance

(D) Performance; arousal

86. In the Wason selection task for
propositional reasoning, ‘partici-
pants develop a general idea of the
rule, then construct examples

that follow the rule’ is referred to

as :

(A) Confirmation bias

(B) Representativeness bias
(C) Construction bias

(D) Mental fixation bias

level being lower the

84.

85.

86.

JUN - 13220/11—B
fagnd 9o favya sas 3/
(A) 70 mV
(B) 85 mV
(C) =70 mV

(D) -85 mV

U 3R ST 1E 378, o shHt

qdedl, = o8e W &

TR SIS B
(A) T, SR
(B) hredermd, garl
(C) SIFRYI, hrderdm
(D) A, SFRO

o [ an

SEENES

~ . [al [ i
TR HEa U=l dohid,
Ut fIE=t GEEeRoT gl
foerfaa shefl, 9 FEm= 9o o)

380 TIR shed &l 1 B A8 ?

(A) TR0 JAE
(B) wfafifaa qarue

(C) T A
(D) AMfaes fuRor gains
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87. Which among the following is not | 87. ®iEST= IR RIEREIC e
a viewpoint of Festinger’s theory of WITeTIcTdeh]  ShTOTdT gi\bdqo\lﬂ e ?
interpersonal attraction ? @) TR T c'j\l F @ eTar e
(I) People compare their abilities Il AT ShdTd.
and beliefs with others. (1) @ gafgdt wmfd ci=n

(II) People organize their likes and JTEEt-fTae™ guues Hidm.
dislikes in a symmetrical way. (L) g ETaT=ar5es] 3 qAe arTeh

(ITI) People believe the only way to SRIGREMIEL gbdl B ThHT "LC'*“—
evaluate the accuracy of your HATET AE R AR ek favard
view in normality. 3.

Codes : Tehdiah :

(A) Only (I (A) % (D)

(B) Only (II) (B) wad (I

(C) Only (III) (C) e (IID)

(D) Both (I) and (III) (D) (I) eufor (IID) St

88. Which of the following is correct | 88. faum anfor Ul faymTERE Weliciueh]
alternative for the “Assertion and Ik YA IO S ?
Reasoning” statements ? fy @) . - . )

. . . g : S{ogl  AlehlHl cdl=H]
Assertion (A) ngi:gg?gig 1s most gadraTad Ffaeer
people receive frroadt et &2 FAfyr
feedback on their Aferer Ferell 2.
progress. HRUT (R) :  Siogl lish WAool
Reason (R) : When people are srfor 1 9dq
truly and deeply qEIUAIS TaaG
committed to AT,
reaching them. o
. Tehdiah :
Codes :
(A) (A) and (R) both are true and (A) (A) =T (R) & Tl s ,\2“%“’
(R) is the correct explanation A (R) © (A) & A TSR
for (A) e
(B) (A) and (R) both are true but (B) (A) AT (R)  Siel aRIeX 3Ted
(R) is not the correct I (R) B (A) ¥ IrT TR
explanation for (A) EIFl
(C) (A) is true but (R) is false (C) (A) SRISR 3T, V{_gl, (R) %W T
(D) (A) is false but (R) is true D) (A) TH TR, ‘T{_gl, (R) & SR T2
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89.

90.

91.

92.

How many disabilities
represented in RPWD Act ?

(A 9
(B) 13
(C) 17
D) 21

Flashbacks are experienced typically
by patients who have abused this
drug :

(A) Nicotine
(B) Caffeine
(C) Alcohol
(D) LSD

are

is the study of nature
of knowledge, justification and
rationality of belief.

(A) Etymology
(B) Epistemology
(C) Pragmatism
(D) Philosophy

“Norms are the average performance

of standardized sample”. This
statement is true for which type of
tests ?

(I) Personality test
(II) Aptitude test

(ITT) Achievement test
Codes :

(A) (I) only

(B) (I) only

(C) (II) and (III) only
(D) (I), (IT) and (III)

89.

90.

91.

92.
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IRUEsgS! hEcume fohdl 3T&Hd

gfaHfae s Sd ?
(A) 9
(B) 13
C) 17
D) 21

= WU B SAHE qeIgte ST Sed
ol e, Il favveed ¢ waves
=0 SHYd Adl

(A) A

(B) &%H

(C) |1

D) TATHE!
...................... _6-[ 5”'_”.“‘“ *O'{C\L“'C“ WW
9 foamdiar difshera=n 379319 3R ?

(A) HcIfeme
(B) AR
(C) wadR

(D) deI=

1k § gEIUTRTOT TR SO i
2"’ ¥ A RO ST TS
TR 3 ?

() SAfeaaa ar=on
(II) STfyemar =i
(1) F9eA <=t
i

(A) w (I)

(B) W (1)

(C) ®aa (II) afor (III)
D) (D), (II) 3ufor (I11)
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93.

94.

95.

Which among the following is the
chief inhibiting neurotransmitter ?

(A) GABA

(B) Glutamate
(C) Noradrenaline
(D) Dopamine

The results are not depending on the
sensitivity of the observer alone, but
also on the decision criteria used by
the subject. This is a key assumption
method/model.

(A) Method of Error

(B) Fast-Guess model

(C) Deadline model

(D) Signal detection method

Which of the following is not true
of Divergent thinking (DT) ?

(A) DT test scores have often failed
to correlate with plausible
indices of creative achievement
and behavior

(B) Binet’s measures like “Sentence
Invention” and “Ink Blots” are

examples of DT tests

(C) DT has failed to predict

creativity

(D) Wallach and Kogan developed
DT tests

93.

94.

95.
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TTeferdet v uerd e fRiem
TAHIS A Sl ?

(A) TImen

(B) T
(C) RTGAAA
(D) EraEH

Treepsl § e I eToTehea = SgeTHda
FEaAd THad W d Fgrea ot
TRvaEl saeed 3T9ad, §

ISa/ T & TRIdE 3T

(A) 9HIE Ugd

(B) oG-Sl W&y
(C) =ifad Hga ured
(D) Hehd IMeA dgd
TArAd ST ST agaret faur
(S1.d.) T e ?

(A) S1.3. ==t 9T dgde do
TSR IR ST ST Fde
fadesht Heiy SavaTa SRl 3
3.

(B) ‘et e’ s ¢ geh wqite
TR fo=t amm 3. S
QeI SR

(C) St.31. gsiefierar elehford shivamd

STRTET 3R
(D) SR S A BIL.3. HOAT=

v fasfad e
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96.

97.

98.

According to Adler, first borns,
compared to later borns, are

usually :

(A) More rebellious and impulsive
(B) Less open to new experiences
(C) More self-conscious

(D) Less successful

The well known Stanford prison

experiment was done by ................. .
(A) Kurt Lewin

(B) Norman Triplett

(C) Leon Festinger

(D) Philip Zimbardo

factors/variables

influence the eye witness

identification in conditions where

the event was actually witnessed.
(A) System

(B) Confounding

(C) Estimator

(D) Misleading

96.

97.

98.
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SfEATAT FAMER, T SHeiedl Jarrei

q&T T Il W SHeTel ol a I

(A) 31ferer dg@ER STfor SrEHTEeT T

(B) Tl STIVATST hHl TR Seraon

(C) 2AfYer W-SMeeh  3HdA

(D) 3Tc9 I AHAd

(A) 2 dfem

(B) e fewie
(C) fasia wEsR
(D) ety femet

Siegl T Y& difgetall/ ST Heeiel 9,

=l gaaEel NBEeR T IR
gfomy B :

(A) HaEAl
(B) Gfagm
(C) 3

(D) feemya
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99.

100.

Match List I with List II and select
the correct answer using the codes
given below :

List I
(a)
®)
(c)

Hypothalamus
Lateral hypothalamic damage

Ventromedial hypothalamic

damage

(d) Changes in levels of Glucose
List II

(1)

(2)

Causes extreme over-eating

Responsible for monitoring food
intake

3)
(4)

Regulate feeling of hunger

Leads to refusal of food and
starvation

Codes :

(a)
(A) (4)
(B) )
(C) )
D) (2)

)
3)
4)
4) 1) @3
1 @ 3

Agnosia is an inability to :

(c)
(2)
(1)

(d)
(1)
(2)

(A) Remember words
(B) Recognize objects
(C) Localize sound

(D) Maintain balance

99.

100.
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ST 1 377 2t 11 A7=it Je3vit . gerd

Tehardl AR HEA AT JR AT
et 1

AT Th

TRl HURAAETER  FE

ICRAA HEAH AYTAAGTS I

(@)

®)

(c)

(d) YA U agd
et 11

Al @@ Fod oIl SR

3 I SINAAETS] oo R,

(1)
2)
3)
(4)

ga=a1 WA R s

JUTLTT TR TOT ST=TAT TR ST
e <0

Hehdich :
(@)

A) 4

(B) 3)

<€ 2 @ @O 3

D 2 1 @ 3

I WU B wEE A

(A) V&5 A0 T@To

(B) &

(C) strarsir=t foem ooy

(D) & FieTes

(c)
(2)
1)

(d)
(1)
(2)

)
3)
4)
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ROUGH WORK
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